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QUESTION 1

Which two are true about the ADR retention advisor in Oracle Database 12c Release 2? (Choose two.) 

A. ESTIMATE (SHORTP_POLICY = 192) estimates the space requirement based on the SHORTP_POLICY value of
192 minutes. 

B. ESTIMATE (SHORTP_POLICY = 192, LONGP_POLICY = 2160) estimates the space requirement based on current
ADR diagnostics file space usage. 

C. ESTIMATE (SIZEP_POLICY = 209715200) estimates only the long retention policy. 

D. ESTIMATE (SHORTP_POLICY = 192, LONGP_POLICY = 8760) provides estimates that users can use to set
SIZEP_POLICY. 

E. ESTIMATE (SIZEP_POLICY = 209715200) estimates the value of LONGP_POLICY. 

Correct Answer: DE 

 

QUESTION 2

Which three statements are true about the Automatic Database Diagnostic Monitor (ADDM)? (Choose three.) 

A. It analyzes only those memory components of the database instance that are impacting performance. 

B. It determines the segments on which waits are occurring when the database has a high number of buffer busy waits. 

C. It analyzes the performance of the database instance based on the latest two AWR snapshots. 

D. It determines SQL statements that are performing poorly. 

E. It recommends implementing SQL profiles to generate better execution plans. 

F. It analyzes only the components and waits that are impacting database performance. 

Correct Answer: BCD 

Reference: https://docs.oracle.com/cd/B19306_01/server.102/b14211/diagnsis.htm#g41683 

 

QUESTION 3

The COMPATIBLE parameter is set to 12.2.0.0.0. 

Which two statements are true about SQL identifier lengths? (Choose two.) 

A. Disk group, PDB, and tablespace names are limited to 30 bytes. 

B. Table names can be as long as 128 bytes. 

C. Database names can be as long as 30 bytes. 
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D. Database link names can be as long as 30 bytes. 

E. Database names can be as long as 128 bytes. 

Correct Answer: BE 

Reference: https://oracle-base.com/articles/12c/long-identifiers-12cr2 

 

QUESTION 4

You create and enable a unified audit policy on a database that has the default auditing configuration. 

The OE user, who has the DBA role, executes these statements. 

What is true about the SELECT statement and why? 

A. It is audited because unified auditing is disabled be default. 

B. It is audited because, by default, the database is in mixed auditing mode with default policies enabled. 

C. It is audited because, by default, all user activities in the database are audited. 

D. It is not audited because the table belongs to another schema. 

E. It is not audited because audit records are stored only when unified auditing is enabled in the database. 
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Correct Answer: C 

 

QUESTION 5

In which three situations would you recommend DB Replay to be used? (Choose three.) 

A. to check the impact of schema changes such as adding new indexes or materialized views 

B. to check the impact of database migration to the cloud 

C. to check the impact of changing the storage system or the network 

D. to check the impact of partitioning a table 

E. to check the impact of new optimizer statistics 

F. to check the impact of upgrading and patching databases 

Correct Answer: BCF 

Reference: https://www.oracle.com/technetwork/database/manageability/db-replay-ow08-134917.pdf 

 

QUESTION 6

In your CDB1 container database, the DB_CREATE_FILE_DEST parameter is set to `/u01/app/oracle/ 

oradata\\'. 

CDB1 has an application container called REGIONS_APP. 

There are no seeds for REGIONS_APP and there are no other application containers. 

You plan to execute this command. 

CREATE PLUGGABLE DATABASE AS SEED ADMIN USER seed_adm IDENTIFIED BY admin_123; 

What must you do for the command to execute successfully? 

A. Set the current container to REGIONS_APP 

B. Set the current container to CDB1 

C. Add the FILE_NAME_CONVERT clause to the command 

D. Add the CREATE_FILE_DEST clause to the command 

E. Set the PDB_FILE_NAME_CONVERT parameter to `/u01/app/oracle/oradata\\' 

Correct Answer: E 

 

QUESTION 7
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In your database, DEFERRED_SEGMENT_CREATION is set to TRUE. You successfully execute this command: 

Which statement is true about the space allocated to the SALES_2016 table? 

A. Two subpartitions are allocated to the q1_2016 partition when the first row is inserted into q1_2016. 

B. A single subpartition is allocated to the q1_2016 partition when the first row is inserted into q1_2016. 

C. Separate segments are allocated to the q1_2016 partition and each of its subpartitions when the first row is inserted
into q1_2016. 

D. A segment is allocated to the q1_2016 partition but not its subpartitions at table creation. 

E. A single segment is allocated to the q1_2016 partition and its subpartitions at table creation. 

Correct Answer: A 

 

QUESTION 8

Examine these steps to create a Transparent Sensitive Data Protection (TSDP) policy with unified auditing 

to protect sensitive data in certain table columns: 

Create a TSDP policy and define the audit parameter for the audited columns. 

Create a TSDP sensitive type using DBMS_TSDP_MANAGE.ADD_SENSITIVE_TYPE. 

Associate the TSDP policy with the sensitive type by using 

DBMS_TSDP_PROTECT.ASSOCIATE_POLICY. 

Enable the TSDP policy at the sensitive type level. 

Associate the column to be audited to the sensitive type by using 
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DBMS_TSDP_MANAGE.ADD_SENSITIVE_COLUMN. 

Identify the steps in the correct sequence. 

A. 1, 2, 3, 4, 5 

B. 2, 1, 4, 5, 3 

C. 2, 5, 1, 3, 4 

D. 1, 2, 4, 3, 5 

E. 2, 1, 5, 3, 4 

Correct Answer: C 

Reference: https://docs.oracle.com/database/121/DBSEG/tsdp.htm#DBSEG399 

 

QUESTION 9

Which two statements are true about FLEX ASM? (Choose two.) 

A. A database instance on any node can connect to an ASM instance on any node. 

B. A separate ASM network is required. 

C. It is impossible to connect to a database instance on one node if the database password file for the same database is
corrupt on another node in the cluster. 

D. Database instances that depend on an ASM instance that is terminated fail over to a node that has a surviving ASM
instance. 

E. Database instances that depend on an ASM instance that is terminated connect to a surviving ASM instance. 

Correct Answer: DE 

 

QUESTION 10

In which four situations does the RMAN DUPLICATE command use the "pull" method? (Choose four.) 

A. when the USING BACKUPSET clause is used 

B. when the SET ENCRYPTION clause is added before the DUPLICATE command 

C. when the SECTION SIZE clause is used 

D. when the number of auxiliary channels allocated is less than the number of target channels allocated 

E. when the USING COMPRESSED BACKUPSET clause is used 

F. when no auxiliary channels are allocated 

G. when IMAGE COPIES are used for the DUPLICATE operation 
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Correct Answer: ACDE 

Reference: https://docs.oracle.com/database/121/BRADV/rcmdupdb.htm#BRADV299 

 

QUESTION 11

Which three statements are true about the deferred invalidation clause in DDL statements? (Choose three.) 

A. It defers invalidating dependent cursor when possible. 

B. It cannot be used for bitmap index creation. 

C. The CURSOR_INVALIDATION parameter always overrides the deferred invalidation clause. 

D. It always overrides the CURSOR_INVALIDATION setting. 

E. It cannot be used for creating a secondary index on index organized tables 

Correct Answer: ACE 

 

QUESTION 12

Identify a situation where performance profiles can be used for application containers. 

A. to specify the total number of parallel execution servers available 

B. to specify the maximum time, in seconds, that a parallel statement can wait in the parallel statement queue before it
is timed out 

C. to specify the maximum percentage of the parallel execution server pool that a particular application container can
use 

D. to enforce a limit on the number of I/OS issued per second 

E. to enforce a limit on I/O throughput per second 

Correct Answer: A 

 

QUESTION 13

Your CDB is in ARCHIVELOG mode and has an application container with a container PDB. A backup 

exists for the CDB. When you connect to the container PDB and try to execute a query, you get an error 

that a SYSTEM data file is missing in the container PDB. You want to use the RMAN RESTORE 

DATABASE and RECOVER DATABASE commands to perform the recovery. 

Examine these actions: 

Connect to CDB$ROOT and execute SHUTDOWN ABORT and STARTUP MOUNT. 
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Connect to the application container and execute SHUTDOWN ABORT. 

Connect to the application container and execute ALTER PLUGGABLE DATABASE CLOSE ABORT. 

Which option correctly lists the actions that you must execute before performing the recovery? 

A. 1 and 3 

B. 1 and 2 

C. only 2 D. only 3 

Correct Answer: A 

 

QUESTION 14

Which two statements are true about a PDB lockdown profile? (Choose two.) 

A. It is created by a local user with the SYSDBA privilege in each PDB where it needs to be applied. 

B. It is created by a common user with the SYSDBA privilege in CDB$ROOT. 

C. It is created by a common user with the SYSDBA privilege in each PDB where it needs to be applied. 

D. It is enabled by default on creation. 

E. It is enabled by using the PDB_LOCKDOWN parameter in each PDBs where it needs to be applied. 

F. It is enabled in PDBs only after the CDB to which the PDBs belong is restarted. 

Correct Answer: BC 

Reference: https://blogs.oracle.com/multitenant/a-simple-guide-to-lockdown-profiles 

 

QUESTION 15

You create a refreshable copy PDB, PDB_COPY, from the PDB_ORG PDB by using the REFRESH 

MODE EVERY 5 MINUTES clause. 

What happens every five minutes? 

A. An automatic refresh is done provided PDB_COPY is closed; otherwise the refresh is differed and attempted again
after five minutes. 

B. PDB_COPY is automatically closed provided there is no ongoing transaction in PDB_ORG and then reopened as
read-only after the refresh is complete. 

C. PDB_COPY\\'S state is automatically changed to read-write and back to read-only after the refresh is complete. 

D. PDB_COPY\\'S state is automatically changed to read-only and then reopened as read-write after the refresh is
complete. 
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E. An automatic refresh is done provided PDB_COPY is in read-only mode; otherwise the refresh is deferred and
attempted again after five minutes. 

Correct Answer: E 
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